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& = eloH HEE4Q N sz & = NEY HEATX =H sz

= b 2,909,377 2,956,217 46,840 | B b 2,909,377 2,956,217 46,840

Moz 624,503 579, 114 45,389 | HIS K& AL 950,000 970,000 20,000

CES= 400,000 400,000 0| SR A 0 0 0

iz 0 0 0| olze gy 0 0 0

eistrny 0 0 0| 2122 0 0 0

oer2aass 0 0 ololst= 0 0 0

PINEGES 1,868,217 1,912,029 ~43,812| GIXIB 1,049,377 1,868,217 81,160

o2 0 0 0| 222 0 0 0

P sl 16,657 12,824 3,833| =222l 3aE 0 0 0
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20188 = 991,938 579,114 12,824 0| 1,088,000 970,000 0 0 0 0 118,000 196,062
2019€ & 1,041,160 624,503 16,657 0 960,000 950,000 0 0 0 0 10,000 81,160
13,183,613 | 6,558,646 434,859 | 1,279,558 | 11,316,446 | 10,285,700 0 888,411 0 0 142,335 1,867,167
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E A 700,000 700,000 0|& A 700,000 700,000 0
Y= 0 0 0| &t ArZHI 0 0 0
2x3 0 0 0| SRHE AL 0 0 0
el 0 0 R 0 0 0
eistrny 0 0 0| 2122 0 0 0
LIRS 0 0 K= 0 0 0
OIxIZ2al= 700,000 700,000 0|0IXIZ 700,000 700,000 0
ol 2 0 0 0| 2z S 0 0 0
0IRt42 0 0 DR 0 0 0
JIEH 0 0 0|JIERIE 0 0 0
a3
@ A8 (S92
ag= g0l o 5 2 T
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710 28RS 700,000 700,000 0
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